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B = 50,000 + 0.1 A

A = 80,000 + 0.9 (50,000 + 0.1 A)

= 80,000 + 45,000 + 0.09A

= 125,000 + O.c)9A

= 125,000 = 137,382.64
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fhlwp’1 L3uIJutJm fh10Y:uilafiu

07mqjlufhhyTi

U-~lsjl\JWO 150,000 50,000 10,000

LFSil3UfiOlU 50,000 30,000

u3hnswa 30,000 10,000 5,000
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*IUVPI~W\~ UlhXJ-%Vl  ild 31 hM?lnU 2541

l.sllwynd u%naiu{4

ihd+&d 500,000 400,000

adAqihdAlEI~4 350,000

dum4~ulutvlfl~di7X 300,000 100,000

1.150,000  500,000

crdau 200,000 150,000

l$.m~~ 650,000 200,000

t-hlofmw 300,000 150,000

1,150,000  500,000
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300,000

90,000

390,000

100.000

200,000

90,000

390,000

402 AC400


